
LE20224

1/6

28-02-2020 / Rev.: B

<1400

>
E

N
 
1
1
7

6

3-14

#

19



LE20224

2/6

NORNA PLAYGROUNDS A/S • Virkefeltet 1, DK-8740 Brædstrup • Phone +45 7575 4199 • mail@norna-playgrounds • norna-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used, 

a fee of 10% of the assumed contract price will be charged.

18m² 3,7x7,2x2,3m
~215 kg

~0,14m³
Ø12x320cm 49kg2 6t

3680

1
5
3
5

1574

MAX

cm

MAX

kg

2
3
0
3

8
0
0

>
4
0
0

L:3600

7200

2
5
0
0

18m²

(1/50)

(1/60)



Parts List

DESCRIP.PART NOQTY

Ø100/120-3350mmRS001764

Steel beam incl. endplatesLE155501

Swing seat basket Ø1250mmLE261361

LE20224

3/6

RS00176

LE15550

RS00176

RS00176

RS00176

LE26136



(1/50)

N N

LE20224

4/6

#19

3
1
5
6

1
4
5
0

3676

2
1
0
0

1
4
7
4

7
6
9

#19

2
1
0
0

(1/60)

#84A

8
0
0

>
4
0
0

#19

3680

1
6
2
0

#19

7
6
9

2861 2861

739 739

1
7
8
6

1
7
8
6

3
5
7
2

L:3600

7200

3

8

6

4

1477



C ( 1 : 18.5 )

D ( 1 : 8 )

E ( 1 : 13.4 )

F ( 1 : 10.4 )

G ( 1 : 50 )

H ( 1 : 6.1 )

C

Parts List

DESCRIP.PART NOQTY

Safety chain 6mm L:20cmB100502

ButtonLE130184

PinLE130192

M12x1,25mm nutLE160984

M12x120mm boltLE162244

M12 nut capLE165324

Steel beam incl. endplatesLE155501

Steel beamLE15550 Part 11

EndplateLE15550 Part 22

10x25mm bottomheadLE160808

M10x1,25mm nutLE1610412

M10 - Ø29mmLE161534

M10x90mm boltLE162154

M10x60mm hex screwLE162508

M10 nut capLE1653020

Ø42/38mmLE165564

Swing fittingLE402102

D

E

F

G

H

LE20224

5/6

LE16556

LE16104

LE16153

LE16530

LE16250

LE16215

LE13100

LE16080

LE16104

LE16530

A

LE16224

LE40210

LE16532

LE16098

B

C

D

LE15550 Part 2

LE15550 Part 1

B10050

LE13018

LE13019

RS00176

NORNA 100g

(LE16604)

Lubricating paste



J ( 1 : 5 )

K ( 1 : 2.50 )

Parts List

DESCRIP.PART NOQTY

ShackleLE131004

Max 4 pers. tagLE159041

3x16, PHLE159016

Name tagLE159101

Sealtite 970 1,5 ml (Glue) LE165991

J

K

LE20224

6/6

LE13100

E

LE15904

LE15901

F

LE16599


